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REGRESSION ANALYSIS
• Predict the value of a dependent variable based on the value of 

independent variable
• Explain the impact of changes in an independent variable on the dependent • Explain the impact of changes in an independent variable on the dependent 

variable

Predict the value of a dependent variable based on the value of atleast one 

Explain the impact of changes in an independent variable on the dependent Explain the impact of changes in an independent variable on the dependent 



LINEAR REGRESSION
• Only one independent variable, X
• Relationship between X and Y is described by a linear function
•• Changes in Y are assumed to be caused by changes in X

Y = Β0
Where, Β0= constant

Β1= regression coefficient
X =value of the independent variable 
Y = value of the dependent variable.

Relationship between X and Y is described by a linear function
Changes in Y are assumed to be caused by changes in X

+ Β1X

variable 
value of the dependent variable.



MULTIPLE LINEAR REGRESSION
• Used to predict a relation between more than one independent variables and a 

dependent variable
Y = b0 + b1x1 + b2x20 1 1 2 2

whereΒ0= constant
Βi= regression coefficients
Xi =value of the independent variable 
Y = value of the dependent variable.

MULTIPLE LINEAR REGRESSION
Used to predict a relation between more than one independent variables and a 

+ … + bk-1xk-1 + bkxkk-1 k-1 k k

=value of the independent variable 



PROCEDURELINEAR REGRESSION USING SPSSLINEAR REGRESSION USING SPSS
Question: A salesperson for a large car brand wants to 
determine whether there is a relation between an 
individuals income and the price they pay for a car.

PROCEDURELINEAR REGRESSION USING SPSSLINEAR REGRESSION USING SPSS
: A salesperson for a large car brand wants to 

determine whether there is a relation between an 
individuals income and the price they pay for a car.



STEP1: ENTER THE INCOME AND PRICE DATA IN SPSSSTEP1: ENTER THE INCOME AND PRICE DATA IN SPSS



STEP 2: CLICK ANALYZE AND SELECT REGRESSION &THEN CLICK LINEARSTEP 2: CLICK ANALYZE AND SELECT REGRESSION 



STEP 3: TRANSFER THE INDEPENDENT VARIABLE INCOME INTO THE INDEPENDENT BOX &TRANSFER THE DEPENDENT VARIABLE PRICE INTO THE DEPENDENT BOX

STEP 3: TRANSFER THE INDEPENDENT VARIABLE INCOME INTO THE INDEPENDENT BOX &TRANSFER THE DEPENDENT VARIABLE PRICE INTO THE 



STEP 4: IN STATISTICS FEATURE SELECT ESTIMATE AND MODEL FIT IN REGRESSION COEFFICIENTS AND THEN CLICK CONTINUE TO GET THE OUTPUT.
STEP 4: IN STATISTICS FEATURE SELECT ESTIMATE AND MODEL FIT IN REGRESSION COEFFICIENTS AND THEN CLICK CONTINUE TO 



OUTPUT



INTERPRETATION
Model Summary

Model R R Square Adjusted R 
Square

Std. Error of the Estimate

1 .984a .967 .962 2068.710
a. Predictors: (Constant), Income of  the person
 The R value represent the simple correlation and is 0.984 which indicates  The R value represent the simple correlation and is 0.984 which indicates 

high degree of correlation.
 The R2 indicates how much of the total variation in the dependent variable 

can be explained by the independent variable, In this case 96.7 which is 
large.

Coefficientsa
Model Unstandardized 

Coefficients
Standardiz

ed 
Coefficients

t

B Std. Error Beta

1
(Constant) 4896.030 4086.762 -1.198
Income of  the 
person

.980 .073 .984 13.342

a. Dependent Variable: price of the car

2068.710

The R value represent the simple correlation and is 0.984 which indicates The R value represent the simple correlation and is 0.984 which indicates 
indicates how much of the total variation in the dependent variable 

can be explained by the independent variable, In this case 96.7 which is 

Sig.

1.198 .276
13.342 .000

To present the regression equation asPrice = 4896 + 0.980 (Income)



PROCEDUREMULTIPLE LINEAR REGRESSION USING 
• Question: A health researcher wants to predict VO2 

indicator of fitness and health.
• The researchers goal is to predict vo2 max based on these four           • The researchers goal is to predict vo2 max based on these four           

attributes: age, weight, heartrate

PROCEDUREMULTIPLE LINEAR REGRESSION USING SPSS
Question: A health researcher wants to predict VO2 max,an

The researchers goal is to predict vo2 max based on these four           The researchers goal is to predict vo2 max based on these four           
heartrate, gender.



STEP 1: ENTER THE ATTRIBUTES IN STEP 1: ENTER THE ATTRIBUTES IN SPSS



STEP 2: CLICK ANALYSE AND SELECT REGRESSION & THEN SELECT LINEAR.STEP 2: CLICK ANALYSE AND SELECT REGRESSION & THEN SELECT LINEAR.



STEP 3: TRANSFER THE DEPENDENT VARIABLE VO2 MAX INTO THE DEPENDENT BOX TRANSFER THE INDEPENDENT VARIABLES AGE, GENDER, HEARTRATE INTO INDEPENDENT BOX

STEP 3: TRANSFER THE DEPENDENT VARIABLE VO2 MAX INTO THE DEPENDENT BOX TRANSFER THE INDEPENDENT VARIABLES AGE, INTO INDEPENDENT BOX



STEP 4:IN STATISTICS FEATURE SELECT ESTIMATE MODEL FIT & CONFIDENCE INTERVALS REGRESSION COEFFICIENTS AND THEN CLICK CONTINUE TO GET THE OUTPUT

STATISTICS FEATURE SELECT ESTIMATE FIT & CONFIDENCE INTERVALS IN REGRESSION COEFFICIENTS AND THEN CLICK CONTINUE TO GET THE OUTPUT



OUTPUT


